

Orthodox Semigroups With Inverse Transversals*

ZHU Feng-lin

(Department of Mathematics, USTC, Hefei 230026, China)

Abstract: A new construction theorem for orthodox semigroups with inverse transversals was given.

Key words: regular semigroup; inverse transversal; orthodox semigroup

CLC number: O152.7 **Document code:** A

AMS Subject Classifications (2000): 20M10

0 Introduction and preliminaries

In 1982, Blyth and McFadden proposed the concept of inverse transversal^[1]. If S is a regular semigroup, then an inverse transversal of S is an inverse subsemigroup S° such that there exists a unique inverse in S° for every $x \in S$. In what follows we write the unique inverse of x as x° , and denote $(x^\circ)^\circ$ by $x^{\circ\circ}$. Let $L = \{a \in S : a = aa^\circ a^{\circ\circ}\} = \{aa^\circ a^{\circ\circ} : a \in S\}$, $R = \{a \in S : a = a^{\circ\circ} a^\circ a\} = \{a^{\circ\circ} a^\circ a : a \in S\}$, $I = \{a \in S : a = aa^\circ\}$, $\Lambda = \{a \in S : a = a^\circ a\}$. Then $E(L) = I$, $E(R) = \Lambda$.

We list the following known results.

Let S be a regular semigroup with an inverse transversal S° , and let $E^\circ = E(S^\circ)$, then

$$(a) \quad (xy)^\circ = (x^\circ xy)^\circ x^\circ = y^\circ (xyy^\circ)^\circ \text{ for any } x, y \in S;^{[2]}$$

$$(xy^\circ)^\circ = y^{\circ\circ} x^\circ, (x^\circ y)^\circ = y^\circ x^{\circ\circ} \text{ for any } x, y \in S;^{[3]}$$

I and Λ are left and right regular bands with a common semilattice transversal E° , respectively; L and R are left and right inverse semigroups with a common inverse transversal S° , respectively^[4];

I (resp. Λ) is a semilattice of left (resp. right) zero semigroups $\{I_{e^\circ} : e^\circ \in E^\circ\}$ (resp. $\{\Lambda_{e^\circ} : e^\circ \in E^\circ\}$), where $I_{e^\circ} = \{a \in I : a^\circ = e^\circ\}$ (resp. $\Lambda_{e^\circ} = \{a \in \Lambda : a^\circ = e^\circ\}$)^[4,5].

* Received date: 2002-09-16

Foundation item: The project was supported by NSFC (10271113)

Biography: Zhu Fenglin, born in 1965, male, associate professor, Ph.D., engages in semigroup theory.

E-mail: zhuffl@mail.ustc.edu.cn

- (b) S is orthodox iff $(xy)^\circ = y^\circ x^\circ$ for any $x, y \in S^{[5]}$;
- S is orthodox iff $(li)^\circ = l^\circ i^\circ$ for any $l \in \Lambda, i \in I^{[6]}$;
- S is orthodox iff S is quasi-orthodox and S° is weakly multiplicative^[7].

(c) S° is weakly multiplicative iff for any $e \in E(S), e^\circ \in E^{\circ[8]}$.

Recall that a regular semigroup S is orthodox if the set of idempotents $E(S)$ is a band.

Proposition 1 Let S be a regular semigroup with an inverse transversal S° . Then the following statements are equivalent:

- (1) S is orthodox;
- (2) For any $l \in \Lambda$ and $i \in I, (li)^2 = li, (il)^2 = il$.

Proof It is clear that (1) \Rightarrow (2).

(2) \Rightarrow (1): For any $l \in \Lambda$ and $i \in I$, we have $lii^\circ l^\circ li = lili = li$ and $i^\circ l^\circ lii^\circ l^\circ = i^\circ lil^\circ = i^\circ ilill^\circ = i^\circ ill^\circ = i^\circ l^\circ$, thus $(li)^\circ = i^\circ l^\circ = l^\circ i^\circ$, it follows by (b) that S is orthodox.

1 A construction theorem for orthodox semigroups with inverse transversals

The full transformation semigroup of a semigroup S acting on the right side is denoted by $\mathcal{A}(S)$, and $\mathcal{S}^*(S)$ denotes the dual semigroup of $\mathcal{A}(S)$.

Theorem 1 Let L (resp. R) be a left (resp. right) inverse semigroup with an inverse transversal S° , and let $I = E(L) = \cup_{e^\circ \in E^\circ} I_{e^\circ}$ be a semilattice of left zero semigroups with a semilattice transversal $E^\circ, \Lambda = E(R) = \cup_{e^\circ \in E^\circ} \Lambda_{e^\circ}$ be a semilattice of right zero semigroups with a semilattice transversal E° , where I_{e° is a left zero semigroup containing e° , and Λ_{e° is a right zero semigroup containing e° . If there exist homomorphisms $\lambda : R \rightarrow \mathcal{S}^*(I), a \mapsto \lambda_a, \mu : L \rightarrow \mathcal{A}(\Lambda), x \mapsto \mu_x$ satisfying the following conditions:

- (1) $(\forall e^\circ \in E^\circ), (\forall a \in R), (\forall x \in L)$
 $\lambda_a I_{e^\circ} \subseteq I_{a^\circ e^\circ a^\circ}, \Lambda_{e^\circ} \mu_x \subseteq \Lambda_{x^\circ e^\circ x^\circ}, \lambda_a E^\circ \subseteq E^\circ, E^\circ \mu_x \subseteq E^\circ;$
- (2) $(\forall e, g \in I), (\forall f, h \in \Lambda), (\forall a \in R), (\forall x \in L)$
 $\lambda_a(eg) = (\lambda_a e)(\lambda_a(\lambda_{(a^\circ a)} \mu_x g)), (fh)\mu_x = ((f\mu_{\lambda_{(xx^\circ)}})\mu_x)(h\mu_x);$
- (3) $(\forall g, u \in I), (\forall f, h \in \Lambda), (\forall b \in S^\circ),$ where $g^\circ = bb^\circ, h^\circ = b^\circ b$
 $(\lambda_{bh}u)b = b(\lambda_hu), b(f\mu_{gb}) = (f\mu_g)b.$

Define a multiplication on the set $I * S^\circ * \Lambda = \{ (e, a, f) \in I \times S^\circ \times \Lambda : e \in I_{aa^\circ}, f \in \Lambda_{a^\circ a} \}$ by $(e, a, f)(g, b, h) = (e(\lambda_{af}g), ab, (f\mu_{gb})h)$. Then $I * S^\circ * \Lambda$ is an orthodox semigroup with an inverse transversal $(I * S^\circ * \Lambda)^\circ = \{ (a^\circ a, a^\circ, aa^\circ) : a \in S^\circ \}$.

Proof Let $(e, a, f), (g, b, h), (u, c, v) \in I * S^\circ * \Lambda$. By Condition (1), we have $\lambda_{af}g \in \lambda_{af}I_{g^\circ} = \lambda_{af}I_{bb^\circ} \subseteq I_{(af)^\circ bb^\circ (af)^\circ}$, so $(\lambda_{af}g)^\circ = (af)^\circ bb^\circ (af)^\circ = a^\circ f^\circ bb^\circ f^\circ a^\circ = af^\circ bb^\circ a^\circ = aa^\circ abb^\circ a^\circ = abb^\circ a^\circ$, and so $(e(\lambda_{af}g))^\circ = (\lambda_{af}g)^\circ e^\circ = abb^\circ a^\circ e^\circ = abb^\circ a^\circ aa^\circ = abb^\circ a^\circ = ab(ab)^\circ$. Similarly, we have $((f\mu_{gb})h)^\circ = (ab)^\circ ab$. Thus $e(\lambda_{af}g) \in I_{ab(ab)^\circ}, (f\mu_{gb})h \in \Lambda_{(ab)^\circ ab}$. Thus the multiplication is well-defined.

At the same time,

$$\begin{aligned}
 & ((e, a, f)(g, b, h))(u, c, v) \\
 &= (e \lambda_{af} g), ab, (f \mu_{gb})h)(u, c, v) \\
 &= (e \lambda_{af} g)(\lambda_{ab} \lambda_{f \mu_{gb}})_h u), abc, (((f \mu_{gb}) \mu_{uc}) v) \\
 &= (e \lambda_{af} g)(\lambda_{ab} \lambda_{f \mu_{gb}})_h u), abc, (((f \mu_{gb}) \mu_{\lambda_h(uc)uc}) \mu_{uc})(h \mu_{uc}) v) \quad (\text{by (2)}) \\
 &= (e \lambda_{af} g)(\lambda_{ab} \lambda_{f \mu_{gb}})_h u), abc, (((f \mu_{gb}) \mu_{\lambda_h}) \mu_{uc})(h \mu_{uc}) v) \quad (\text{since } uc(uc)^\circ = u) \\
 &= (e \lambda_{af} g)(\lambda_{ab} \lambda_{f \mu_{gb}})_h u), abc, (f \mu_{gb}(\lambda_{hu})_{uc})(h \mu_{uc}) v) \quad (\text{since } \mu \text{ is homomorphic}) \\
 &= (e \lambda_{af} g)(\lambda_{ab} \lambda_{f \mu_{gb}})_h u), abc, (f \mu_{gb}(\lambda_{hu} \times \lambda_{hu})^\circ_{uc})(h \mu_{uc}) v) \quad (\text{since } \lambda_h u \in I) \\
 &= (e \lambda_{af} g)(\lambda_{ab} \lambda_{f \mu_{gb}})_h u), abc, (f \mu_{gb}(\lambda_{hu} h^\circ u^\circ_{uc})(h \mu_{uc}) v) \quad (\text{since } \lambda_h u \in I_{h^\circ u^\circ}) \\
 &= (e \lambda_{af} g)(\lambda_{af^\circ b} \lambda_{f \mu_{gb}})_h u), abc, (f \mu_{gb}(\lambda_{hu} h^\circ u^\circ_{uc})(h \mu_{uc}) v) \\
 &= (e \lambda_{af} g)(\lambda_{af^\circ b b^\circ b} \lambda_{f \mu_{gb}})_h u), abc, (f \mu_{gb}(\lambda_{hu})_c)(h \mu_{uc}) v) \\
 &= (e \lambda_{af} g)(\lambda_{af b b^\circ f^\circ b} \lambda_{f \mu_{gb}})_h u), abc, (f \mu_{gb}(\lambda_{bh})_{bc})(h \mu_{uc}) v) \quad (\text{by (3)}) \\
 &= (e \lambda_{af} g)(\lambda_{af b} \lambda_{f \mu_{gb}})^\circ(\lambda_{f \mu_{gb}})_h u), abc, (f \mu_{gb}(\lambda_{bh})_{bc})(h \mu_{uc}) v) \quad (\text{by (1), } b^\circ f^\circ b = (f \mu_{gb})^\circ) \\
 &= (e \lambda_{af} g)(\lambda_{af b} \lambda_{f \mu_{gb}})_h u), abc, (f \mu_{gb}(\lambda_{bh})_{bc})(h \mu_{uc}) v) \quad (\text{since } f \mu_{gb} \in \Lambda) \\
 &= (e \lambda_{af} g)(\lambda_{af} \lambda_{f \mu_{gb}})_{bh} u), abc, (f \mu_{gb}(\lambda_{bh})_{bc})(h \mu_{uc}) v) \quad (\text{by (3)}) \\
 &= (e \lambda_{af} g)(\lambda_{af}(\lambda_{f \mu_{gb}}(\lambda_{bh} u))), abc, (f \mu_{gb}(\lambda_{bh})_{bc})(h \mu_{uc}) v) \quad (\text{since } \lambda \text{ is homomorphic}) \\
 &= (e \lambda_{af} g)(\lambda_{af}(\lambda_{(af)^\circ af} \mu_{g}(\lambda_{bh} u))), abc, (f \mu_{gb}(\lambda_{bh})_{bc})(h \mu_{uc}) v) \quad (\text{since } (af)^\circ af = f) \\
 &= (e \lambda_{af} g(\lambda_{bh} u))), abc, (f \mu_{gb}(\lambda_{bh})_{bc})(h \mu_{uc}) v) \quad (\text{by (2)}) \\
 &= (e, a, f)(g(\lambda_{bh} u), bc, (h \mu_{uc}) v) \\
 &= (e, a, f)(g, b, h)(u, c, v).
 \end{aligned}$$

So $I * R$ is a semigroup.

Let $(e, a, f) \in I * S^\circ * \Lambda$ and $a^2 = a$, then by Condition (1), we have $\lambda_{af} e \in \lambda_{af} I_{e^\circ} \subseteq I_{(af)^\circ e^\circ (af)^\circ} = I_{a^\circ f^\circ e^\circ f^\circ a^\circ} = I_{aa^\circ a a^\circ a^\circ} = I_a$, similarly, $f \mu_{ea} \in \Lambda_a$. We also have that $e \in I_a$ and $f \in \Lambda_a$. It follows by the fact that I_a and Λ_a are respectively left and right zero semigroups containing a that $(e, a, f)(e, a, f) = (e \lambda_{af} e), a^2, (f \mu_{ea}) f) = (e, a, f)$. Conversely, let $(e, a, f) \in E(I * S^\circ * \Lambda)$, then $a^2 = a$. Therefore $E(I * S^\circ * \Lambda) = \{(e, a, f) \in I * S^\circ * \Lambda : a^2 = a\}$.

Let $(e, a, f), (g, b, h) \in I * S^\circ * \Lambda, b \in V(a)$. Then $aba = a, bab = b$. So $a^\circ = b$. Thus $\lambda_{af} g \in \lambda_{af} I_{g^\circ} \subseteq I_{(af)^\circ g^\circ (af)^\circ} = I_{a^\circ f^\circ g^\circ a^\circ} = I_{aa^\circ a b b^\circ a^\circ} = I_{aa^\circ}, f \mu_{gb} \in \Lambda_{(gb)^\circ f^\circ (gb)^\circ} = \Lambda_{b^\circ g^\circ f^\circ b^\circ} = \Lambda_{b^\circ b b^\circ a^\circ a b} = \Lambda_{b^\circ b}$. Since I_{aa° is a left zero semigroup and $e \in I_{aa^\circ}, \Lambda_{b^\circ b}$ is a right zero semigroup and $h \in \Lambda_{b^\circ b}$, then $(e, a, f)(g, b, h) = (e \lambda_{af} g), ab, (f \mu_{gb})h) = (e, ab, h)$. In the same manner we can verify that $(e, a, f)(g, b, h)(e, a, f) = (e, ab, h)(e, a, f) = (e, a, f)$. Similarly, $(g, b, h)(e, a, f)(g, b, h) = (g, b, h)$. So $(g, b, h) \in V(e, a, f)$. Conversely, let $(g, b, h) \in V(e, a, f)$, then $b \in V(a)$. Therefore $(g, b, h) \in V(e, a, f)$ in $I * S^\circ * \Lambda$ if and only if $b \in V(a)$.

Let $(I * S^\circ * \Lambda)^\circ = \{(a^\circ a, a^\circ, a a^\circ) : a \in S^\circ\}$. Let $a, b \in S^\circ$, by Condition (1), we have $\lambda_{a^\circ}(b^\circ b) \in I_{a^\circ b^\circ b a} \cap E^\circ$ and $(a a^\circ) \mu_{b^\circ} \in \Lambda_{b a a^\circ b^\circ} \cap E^\circ$, so $\lambda_{a^\circ}(b^\circ b) = a^\circ b^\circ b a$ and $(a a^\circ) \mu_{b^\circ} =$

$baa^\circ b^\circ$, and so

$$\begin{aligned} (a^\circ a, a^\circ, aa^\circ)(b^\circ b, b^\circ, bb^\circ) &= (a^\circ a(\lambda_{a^\circ}(b^\circ b)), a^\circ b^\circ, ((aa^\circ)\mu_{b^\circ})bb^\circ) \\ &= (a^\circ b^\circ ba, a^\circ b^\circ, baa^\circ b^\circ) \\ &= ((ba)^\circ ba, (ba)^\circ, ba(ba)^\circ), \end{aligned}$$

thus $(I * S^\circ * \Lambda)^\circ$ is a subsemigroup of $I * S^\circ * \Lambda$.

For any $(e, a, f) \in I * S^\circ * \Lambda$, we prove that $(a^\circ a, a^\circ, aa^\circ)$ is the unique inverse of (e, a, f) in $(I * S^\circ * \Lambda)^\circ$.

By Condition (1) and since I_{aa° is a left zero semigroup, Λ_{aa° and $\Lambda_{a^\circ a}$ are right zero semigroups, we have $\lambda_{af}(a^\circ a) \in I_{(af)^\circ a^\circ a(af)^\circ} = I_{af^\circ a^\circ af^\circ a^\circ} = I_{aa^\circ}$, $f\mu_{a^\circ} \in \Lambda_{af^\circ a^\circ} = \Lambda_{aa^\circ}$, $(aa^\circ)\mu_{ea} \in \Lambda_{aa^\circ}\mu_{ea} \subseteq \Lambda_{(ea)^\circ aa^\circ (ea)^\circ} = \Lambda_{a^\circ a}$ and $\lambda_{aa^\circ}e \in I_{(aa^\circ)^\circ e^\circ (aa^\circ)^\circ} = I_{aa^\circ}$.

Again since $e \in I_{aa^\circ}$, $f \in \Lambda_{a^\circ a}$, we have

$$\begin{aligned} (e, a, f)(a^\circ a, a^\circ, aa^\circ)(e, a, f) &= (e(\lambda_{af}(a^\circ a)), aa^\circ, (f\mu_{a^\circ})aa^\circ)(e, a, f) \\ &= (e, aa^\circ, aa^\circ)(e, a, f) \\ &= (e(\lambda_{aa^\circ}e), a, ((aa^\circ)\mu_{ea})f) \\ &= (e, a, f). \end{aligned}$$

Similarly, $(a^\circ a, a^\circ, aa^\circ)(e, a, f)(a^\circ a, a^\circ, aa^\circ) = (a^\circ a, a^\circ, aa^\circ)$. So $(a^\circ a, a^\circ, aa^\circ) \in V((e, a, f))$. Let $(b^\circ b, b^\circ, bb^\circ) \in V((e, a, f))$, then $ab^\circ a = a$, $b^\circ ab^\circ = b^\circ$, so $a = b$. It follows that $(a^\circ a, a^\circ, aa^\circ)$ is the unique inverse of (e, a, f) in $(I * S^\circ * \Lambda)^\circ$. Therefore $(I * S^\circ * \Lambda)^\circ$ is an inverse transversal of $I * S^\circ * \Lambda$.

Denote $X = \{x \in I * S^\circ * \Lambda : x = xx^\circ\}$, $Y = \{x \in I * S^\circ * \Lambda : x = x^\circ x\}$.

Let $a \in E^\circ$, $e \in I_a$, then $(e, a, a)(e, a, a)^\circ = (e, a, a)(a, a, a) = (e(\lambda_a a), a, (a\mu_a)a) = (ea, a, a) = (ee^\circ, a, a) = (e, a, a)$, so $(e, a, a) \in X$. Conversely, let $(e, a, f) \in X$, then $(e, a, f) = (e, a, f)(e, a, f)^\circ = (e, a, f)(a^\circ a, a^\circ, aa^\circ) = (e(\lambda_{af}(a^\circ a)), aa^\circ, (f\mu_{a^\circ})aa^\circ)$, so $a = aa^\circ \in E^\circ$, again since $f\mu_{a^\circ} \in \Lambda_a$, then $f = a$. Thus $X = \{(e, a, a) \in I \times E^\circ \times E^\circ : e \in I_a\}$.

Similarly, $Y = \{(a, a, f) \in E^\circ \times E^\circ \times \Lambda : f \in \Lambda_a\}$. It is clear that $E((I * S^\circ * \Lambda)^\circ) = \{(a, a, a) \in E^\circ \times E^\circ \times E^\circ\}$.

For any $(b, b, h) \in Y$, $(e, a, a) \in X$, we have $((b, b, h)(e, a, a))^\circ = (b(\lambda_{bh}e), ba, (h\mu_{ea})a)^\circ = (ba, ba, ba) = (b, b, b)(a, a, a) = (b, b, h)^\circ(e, a, a)^\circ$, by (b), $I * S^\circ * \Lambda$ is orthodox.

Theorem 2 Let S be an orthodox semigroup with an inverse transversal S° . Then $S \simeq I * S^\circ * \Lambda$, where $I = \{e \in S : e = ee^\circ\}$, $\Lambda = \{f \in S : f = f^\circ f\}$.

Proof By (a), $L = \{a \in S : a = aa^\circ a^\circ\}$ and $R = \{a \in S : a = a^\circ a^\circ a\}$ are respectively left and right inverse semigroups with the common inverse transversal S° . $I = \cup_{e^\circ \in E^\circ} I_{e^\circ}$ is a semilattice of left zero semigroups, where I_{e° is a left zero semigroup containing e° , and $\Lambda = \cup_{e^\circ \in E^\circ} \Lambda_{e^\circ}$ is a semilattice of right zero semigroups, where Λ_{e° is a right zero semigroup containing e° . For any

$a, b \in R, x, y \in L, s \in I, t \in \Lambda$, we have $asa^\circ(asa^\circ)^\circ = asa^\circ a^\circ s^\circ a^\circ = asa^\circ \in I$, $(x^\circ tx)^\circ x^\circ tx = x^\circ t^\circ x^\circ x^\circ tx = x^\circ t^\circ tx = x^\circ tx \in \Lambda$. Let $\lambda_a : I \rightarrow I$ defined by $\lambda_a s = asa^\circ$, $\mu_x : \Lambda \rightarrow \Lambda$ by $\mu_x = x^\circ tx$. Since $(\lambda_a \lambda_b) s = absb^\circ a^\circ = abs(ab)^\circ = \lambda_{ab} s$, $t(\mu_x \mu_y) = y^\circ x^\circ txy = (xy)^\circ txy = t\mu_{xy}$, then the mappings $\lambda : R \rightarrow \mathcal{F}^*(I), a \mapsto \lambda_a$ and $\mu : L \rightarrow \mathcal{F}(\Lambda), x \mapsto \mu_x$ are homomorphisms.

(1) For any $e^\circ \in E^\circ, a \in R, x \in L$, let $s \in I_{e^\circ}, t \in \Lambda_{e^\circ}$, then $(\lambda_a s)^\circ = (asa^\circ)^\circ = a^\circ s^\circ a^\circ = a^\circ e^\circ a^\circ, (t\mu_x)^\circ = (x^\circ tx)^\circ = x^\circ t^\circ x^\circ = x^\circ e^\circ x^\circ$, it follows by (a) that $\lambda_a s \in I_{a^\circ e^\circ a^\circ}$ and $t\mu_x \in \Lambda_{x^\circ e^\circ x^\circ}$, therefore $\lambda_a I_{e^\circ} \subseteq I_{a^\circ e^\circ a^\circ}$ and $\Lambda_{e^\circ} \mu_x \subseteq \Lambda_{x^\circ e^\circ x^\circ}$. It is clear that $\lambda_a E^\circ \subseteq E^\circ$ and $E^\circ \mu_x \subseteq E^\circ$.

(2) For any $e, g \in I, f, h \in \Lambda, a \in R, x \in L$, we have

$$\begin{aligned} (\lambda_a e)(\lambda_a(\lambda_{(a^\circ a)\mu_e} g)) &= aea^\circ a((a^\circ a)\mu_e)g((a^\circ a)\mu_e)^\circ a^\circ \\ &= aea^\circ ae^\circ a^\circ aeg(e^\circ a^\circ ae)^\circ a^\circ \\ &= aea^\circ aeg(e^\circ a^\circ)^\circ e^\circ a^\circ \\ &= aea^\circ aega^\circ \\ &= aa^\circ aea^\circ aega^\circ \\ &= aega^\circ = \lambda_a(eg). \end{aligned}$$

Dually, $((f\mu_{\lambda_h(x^\circ)})\mu_x)(h\mu_x) = (fh)\mu_x$.

(3) For any $g, u \in I, f, h \in \Lambda, b \in S^\circ$, where $g^\circ = bb^\circ, h^\circ = b^\circ b$, we have $(\lambda_{bh} u)b = bh u(bh)^\circ b = bh u h^\circ b^\circ b = bh u h^\circ = b(\lambda_h u)$. Dually, $b(f\mu_{gb}) = (f\mu_g)b$.

Thus Conditions (1), (2), (3) in Theorem 1 hold. So by Theorem 1, $I * S^\circ * \Lambda$ is an orthodox semigroup with an inverse transversal $(I * S^\circ * \Lambda)^\circ = \{(a^\circ a, a^\circ, aa^\circ) : a \in S^\circ\}$.

Define $\psi : S \rightarrow I * S^\circ * \Lambda$ by $x\psi = (xx^\circ, x^\circ, x^\circ x)$ for any $x \in S$. It is obvious that ψ is injective. For any $(e, a, f) \in I * S^\circ * \Lambda$, since $(eaf)\psi = (eaf(eaf)^\circ, (eaf)^\circ, (eaf)^\circ eaf) = (eaff^\circ a^\circ e^\circ, e^\circ af^\circ, f^\circ a^\circ e^\circ eaf) = (eaf^\circ a^\circ, a, a^\circ e^\circ af) = (eaa^\circ, a, a^\circ af) = (ee^\circ, a, f^\circ f) = (e, a, f)$, then ψ is surjective. For any $x, y \in S$, we have

$$\begin{aligned} (xy)\psi &= (xy(xy)^\circ, (xy)^\circ, (xy)^\circ xy) \\ &= (xyy^\circ x^\circ, x^\circ y^\circ, y^\circ x^\circ xy) \\ &= (xx^\circ x^\circ x^\circ xyy^\circ(x^\circ x^\circ x)^\circ, x^\circ y^\circ, (yy^\circ y^\circ)^\circ x^\circ xyy^\circ y^\circ y^\circ) \\ &= (xx^\circ(\lambda_{x^\circ x^\circ}(yy^\circ)), x^\circ y^\circ, ((x^\circ x)\mu_{yy^\circ y^\circ})y^\circ y) \\ &= (xx^\circ, x^\circ, x^\circ x)(yy^\circ, y^\circ, y^\circ y) \\ &= (x\psi)(y\psi). \end{aligned}$$

Therefore ψ is an isomorphism.

References

- [1] Blyth T S and McFadden R B. Regular semigroups with a multiplicative inverse transversal [J]. Proc. Roy. Soc. Edinburgh, 1982, 92A: 253-270.
- [2] McAlister D B and McFadden R B. Semigroups with inverse transversals as matrix semigroups [J]. Q. J. Math. Oxford(2), 1984, 35: 455-474.
- [3] Blyth T S and Almeida Santos M H. Congruences associated with inverse transversals[J]. Collectanea Mathematica, memorial volume for Paul Dubreil, 1995, 46: 35-48.
- [4] Tang X L. Regular semigroups with inverse transversals[J]. Semigroup Forum, 1997, 55: 24-32.
- [5] Saito T. Construction of regular semigroups with inverse transversals[J]. Proc. Edinburgh Math. Soc. , 1989, 32: 41-51.
- [6] Blyth T S and Almeida-Santos M H. A classification of inverse transversals[J]. Comm. Algebra, 2001, 29(2): 611-624.
- [7] Saito T. Quasi-orthodox semigroups with inverse transversals [J]. Semigroup Forum, 1987, 36: 47-54.
- [8] Blyth T S. Inverse transversals——A guided tour[A]. Proceedings of the International Conference on Semigroups, Braga, 1999[C]. Singapore: World Scientific, 2000.

具有逆断面的纯正半群

朱凤林

(中国科学技术大学数学系, 安徽合肥 230026)

摘要: 本文给出了具有逆断面的纯正半群的一个新的构造定理.

关键词: 正则半群; 逆断面; 纯正半群